7 290n '7"aan'7 NN

1 hawn
(2+4-2=10min) n> 91930 NINN 3 DN 4-7 PTN NN 99Y TN N
2190 LONNNN PTY TY OOPTN 'ON — XD

X ~Geom(0.4) = P(X <4) = i(o.e)‘ -(0.4)=0.87

(Z =Y =2 N nMbWIN” 9901 199 ) DNNNN DN NN Y -2 100) A

P(0) 0.33

= 3 =
4-1 ) )
Z=Y-2~NB(20.33) = P(Y =4)=P(Z=2)=| 033066’ =014
P(A) =05
0.99 < P(Z >1)=1- P(Z =0) = P(Z = 0) = 0.01
1
Z ~ Bin(1,0.5) = 0.01> (OJO.Sl =05=>

In0.01
In0.5

=6.643=>n2>7

12 DAIYN

P(Y =k) = Z B(n,0.5)- P(X =n) nn?wn ninanonn nnon 'oY7

P(X =n)=(1—p)™'p -i B(n,o.s)zwo.sk(l—o.s)”k:@o.s” any
P(Y =k) = Z:’_{Uo.s” (1-p)"tp wnmap Py

:3 DAIYN

[20}( 10
X \5—-X
CP(X =x)=~"22"2 pvpnn 0< X <5 aww nanik nxt X ~ HG(5;20,10)



4 mwn
P(X =9) = (0.75)*(0.25) = 0.02502 (x
(a
P(X >4)=1-[P(X =4)+P(X =3)+P(X =2)+ P(X =1)]
=1-(0.75)°(0.25)—(0.75)*(0.25) - (0.75)(0.25) - (0.25) = 0.5664

1 1
E(X)=—=——=4 (2
() p 0.25 (

'S5 naIvn

.A =Np AYUKRD [IOXI9 NIATONNT NMIFAN NIYONNN DX 2177 [N TR [V P -1 21TA N UKD

min p= nN7x¥n7 nNanonn TNX 722 ,(n)n'TTia 001 10,000 n%7 v At NN

NP2 YNNW VIYD |2y 72 DX AWN? Q1on “Tatw o1 X ~ Bin(lOOOO,Aj

10000
2= np =10000-—22_ = 20
10000

. |D'7I wTIN2 NIN'YN D'WAI9N 1901 NX X2 |no1l

e—20 2030
30!

P(X =30) = ~ 0.008

:6 naIvn
TV 0'T09NN 1901 Y ' .Nnnnn 7Y n'yhann ANtz TV oNimnn oon X' WX
18
D nd. @ 14 DoN9n DY 77w mia n"n XN Y .nnnnn 7w nvann aneary

N'n 1>"Noa 0myo 9 "nnnw nnanonn PAY = X — 4 nvpnn
8\ 18)* (20
( ) (V=4 [3)(38) [38)

J1'YRNN NNTOT? TV DN NSNNYWAY DNIm'Nn oon X N nmamn v nimn Wi A
("9 minran"™)>"noa Y = X —4 nT1'0o9n |37 3"n02 0'myo 4 NdIT Nnnnnv |1’n



W =4.5-(X —4)-5=20-5Y
4(1—1%8) _ 20_@__@ BY;

E(W)=20-5E(Y)=20-5- =

17 DaIvn

:NN7WUN NINANoNN NNOI '97 |27 .07'aN wdIN INIonw yaIknn DX A 1 noa

P(A| o'niao 0'am14) - 0.3 + P(A| D1aoamn) - 0.7 =

[HHACER

HilH

.PTaw ni7annn 46% wain 11'K N1on i

:8 naIvn

N7710 7w DN IR DR X4-1 noat .omt 13-n Nk 7yon 07710 2 yauxknn X E-a jnoa .X

1
P XA~G(%) [IM1N '97 .A y9nn nMpn NN1Y

13
P(E | A)=P(X, >13) = (1—1j - 0513
20

13
P(E|B)=P(Xy; >13) = [1—1j =0.408 pn Xz~G (1—15) WXL Xp DX 'TA NNIT 91N
15

13
P(E|C) =P(X. >13)=(1—1) =0.323 p'n X.~G (%) WX X NN
12

P(E) = 0.513-%+0.408-%+0.323-% =0.4322 ,An7wn nNanonn nnon '97 Py
P(X, >13)-P(A) 0513,

2 = 0.594 :0m2 nnon 9% .a

PAE =" 0.4322




